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Question 5 (25 marks)
Question 5 (a)

Formulae and Tables Book
Trigonometry (page 13/14)
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You are asked to prove an identity. You have to 
show that the left-hand side (LHS) is equal to the 
right-hand side (RHS).

Turn all trigonometric functions into sin and cos.
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Marking Scheme Notes
Question 5 (a) [Scale 15D (0, 4, 7, 11, 15)]
4:	 • Tan function in terms of Sine and Cosine
7:	 • sin (A + B) or cos (A + B) expanded 
	 • Numerator or denominator in fraction form
11:	 • Numerator and denominator divided by cos A cos B
	 • Both numerator and denominator expressed in form of a single fraction
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Question 5 (b)
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Marking Scheme Notes
Question 5 (b) [Scale 10D (0, 2, 5, 8, 10)]
2:	 • One value for 3x
5:	 • One value for x 
	 • Two or more values for 3x
8:	 • Three or more values for x


